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R(M) standard reflection
Ostwaldcolour: yellow Y, A;=495 =700 \g=570
ROV triangle lightness

R()) standard reflection
Ostwaldcolour: green G,\1=470 ,A,=570 A¢=520
ROV triangle lightness 1+

1,001

0,501
0,25¢
0,0

00 500
wavelengthA /nm
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R(M) standard reflection Name and speciral range 48
Ostwaldcolour: cyan C,A1=400 A;=570 As=495 Roy 561_770
triangle lightness G 475573 G, 380_561
1,004 Br 380520 M, 573_475
" G, 520 570 M 570_520
10 optimal colours (0) Yy =90, Yy=3,6
8 of maximum (m) C,g for D65
in chromatic value diagram (A, B))
CEZ60-7A BEATO-2N
R(A) standard reflection
Ostwaldcolour: blue B, A1=400 A;=495 \¢=470
RO triangle ightness.
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R()) standard reflection
Ostwaldcolour: red R, A;=570 00 Ag=595
angle lightness

00 500
wavelengthA /nm

Ri(A) =

6,00
3,00
1,001
13
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Ostwaldcolour: green G,As=:
Re(A) triangle lightness

R(N)/0,18 relative reflection
0 A2=570 Ag=520

00 500
wavelengthA /nm

R(A) standard reflection
Ostwaldcolour: yellow Y, \=495 A;=700 A4=570
ROV triangle fightness.
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R()) standard reflection
Ostwaldcolour: green G,A;=470 A;=570 A¢=520
R(N triangle lightness T+

E
R()) standard reflection
Os1waldcolour cyan C,A1=400 ;=570 A¢=495 R 561_770 ¥, 520_770
triangle lightness G 475573 G, 380_561
1,0 Br 380 520 M, 573_475
= 0.900_ : G,520570 M 570_520
10 optimal colours (0) Yy 16290, Y .5
8 of maximum (m) C,g fol
in chromatic value magram (A2

A8,
Name and spectral range 481

R(A) standard reflection
Ostwaldcolour: blue B, \;=400 ,A,=495
TANGIE TGTNESS
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R(A) standard reflection
Ostwaldcolour: magenta M,A1=570 A,=470 ,
triangle lightness

1,001

00 500
wavelengthA /nm

0,036<=R(\)<=0,9

Rr(A) =

6,00

3,001

R(N)/0,18 relative reflection

Ostwaldcolour: cyan C,A;=400 ;=570 A¢=495
Re(\) triangle lightness

CEZ61-3N

R()) standard reflection
Ostwaldcolour: red R, A;=570 A;=700 \¢=595
R(Y)

angle lightness

0,180_
0,036

R()) standard reflection
Os1waldcolour magenta M,A;=570 ;=470 A¢=520c
triangle lightness 1+

Rs(A) =

0,8]

Ostwaldcolo

Iog[R,()\)] Iog[R()\)IO 18] reflection (log)
reel 2570 A¢=520
nq\e lightness

0 500
wavelengthA/nm

0,036<=R(A)<=0,9

Ostwal

0,8]

= log[Rr(A)] = log[R(A)/0,18] reflection (log)

Idcolour: cyan C,A1=400 A,=570 \4=495
triangle lightness

CEZ61-TN

TUB-test chart CEZ6; Reflectio®®, R, andRs of Ostwaldhue circle, contragst=25:1
The 4 images CEZ6(0/1)—(3/7)N include 6 images of CEV3 and a hue circle of BEA1
] M Y [0) L

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: yellow Y, A;=495 A;=700 Ag=570
triangle lightness

Name and spectral rangas,
R 561_770 ¥, 520_770

Gm 475573 G 380_561

By 380 520 M, 573 475
G,520570 N 570_520

10 optimal colours (0) Yy =90, Y,=3,6
8 of maximum () Cys for AQD

matic value diagram (Ay, B)

0-
r R(A)/0,18 relative reflection

Ostwaldcolour: blue B, A1=400 A,=495 A\¢=470

triangle lightness

Ri(A) =
Ostwaldcolour: red R, A=
Re(A) triangle lightness

R(N)/0,18 relative reflection
0 \2=700 \¢=595

00 500
wavelengthA /nm

0 500
wavelengthA /nm

= log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: yellow Y, A=495 A,=700 A¢=570
triangle lightness T

0,8

Rm 561_770
Gm 475573

G,520 570 N 570_520

2N

Ry(A) = log[R; (\)] = log[R(A)/0, 18] reflection (log)
Ostwaldcolour: blue B, \;=400 ,\,=495 A¢=470
triangle lightness

400 500
wavelengthA /nm
CEZ63-5A CEV33-5A

Rr(A) = R(\)/0,18 relative reflection
Ostwaldcolour: magenta M, \1=570 ,A,=470 ,A¢=520¢

6,00

3,001

Ri(A) triangle lightness ~ T*

0 500
wavelengthA /nm

600

0,036<=R(A)<=0,900
R:(\)=R(\)/0,18

Rs(A) =

log[Rr(A)] = log[R(A)/0, 18] reﬂectlon [(E))

Ostwaldcolour: red R, A;=570 0 A¢=595

0,8]

3nq\9 lightness

= og[R()\)] log[R(A)/0,18] reflection (log)

Ostwaldcolour: magenta M,A,=570 ,A;=470 ,Ag=520¢

0,8]

triangle lightness T+

0,036<=R(A)<=0,900
R:(\)=R(\)/0,18

Ry(A)=

0g[Rr ()]
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